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. : :
(a) Explain the elements and significance of business

environment. :

(b)) What is feasibility study ? What are different aspects
involved in it ? : 7
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Or

(319

Explain the basic considerations in setting up a business

enterprise. -
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(30) @ d ¥ &7 | gfg & Frof F sEEE |

() Felem &t sofa ok o3 7o = wEmy

(@)  Explain the principles which can be helpful in designing

a sound organisation. 8

()  What is functional departmentation ? Explain its merits

and demerits. 7
(H) & qgg W7 & T w0 § weEw fagr
F GHEET | . |
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Or

(ateram)

(@)  What are the features of an informal organisation ?

State its merits and demerits. 8

b B : 1450
()  Explain the process and principles of delegation of

authority. 7

(31) TF SHERE 1 B ¥ @am 2 2
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T |

(@) What is lease finance ? Explain its merits and

demerits. . 8

(b)  Critically examine Maslow’s Need Hierarchy Theory of

Motivation. ey
(3) w2 fou 7= ? ? 3@ qU qwn _W o+
TR |
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Or
(3teran)

(a) Explain the main features of debentures. Describe their

advantages ‘and disadvantages. 8

(b) Explain the functions to be performed in the process of

marketing. : ‘ 7
(a)m%qg@wuﬁaﬁmm | T
sig A F AU ST |
(a)mumﬁmﬁﬁaﬁﬁaﬁ
gAgRY | ‘
Write short notes on any [wo of the following : 2715
.(a) Functional and Disfunctional Aspects of Conflicts
(b) Situational Leadership

(¢) Operative Functions of Human Resource Management

(d)  Process of Rational Decision Making.
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2 Given below is the Trial Balance of Mr. Avik, a Trader, as on 31st March, 2014 :
Particulars Debit Amount Credit Amount
i (Rs.) T (Rs.)
Cash : ' 15,000
Land and Building 2.40,000 ; _
Debtors & Creditors : 75,000 : 1.20,000
Stock (on 1-4-2013) 30,000
Plant 1,50,000
12% Investment ' 60,000
Purchases & Sales 2.85,000 5,70,000
Bank Overdraft | 60,000
Wages 84,000
Salaries g 48,000
Rent, Rates & Taxes 45,000
Bad debts 18,000
Drawings ot tad 15,000
Bills Receivable & Bills Payable 45,000 63,000
~ Carriage Inward e 18,000
Custom Duty on Purchases . 48,000
Life Insurance Premium ‘ 12,000
Advertisement 90,000
Provision for Doubtful debts 6,000
Interest on Investments ' s _ 6.000
~ Trade Expenses = : - 33,000
Furniture : 60,000
Sales Tax Collected . ; 75,000
Capital : 4.71,000
13,71,000 13,71,000

Additional Information ,
(i) Stock on 31-3-2014 was Rs. 1,40,000 (Market value Rs. 1,50,000).

(i) Included in Debtors are Rs. 24,000 due from Kishu and included in Creditors are
Rs. 18,000 due to Kishu.

14.
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(fif) Wages include Rs. 15,000 spent on installation on machine.
(iv) Four-fifth (4/5) of advertisement expenses is to be carried forward for next year.
(v) Create a provision of 5% on debtors.
(vi) Prepaid Taxes amounted to Rs, 6,000.
(vii) Depreciate Machinery\ by 10% on closing balance.
Prepare Trading and Profit and Loss A/c for the year ending 31st March, 2014 ‘and a Balance

Sheet as at that date. 10
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The following is the Receipt and Payment Account of Antriksh Club for the year ending

31st March, 2014 :

Receipts Rs. Payments Rs.
To Balance b/d 2.80.,000 By Payment for
Equipment 1 2,(_)0,00(
To Subscritpion 20,00.000 By Honorarium 4,00,00C
To Donations 5.80,000 By Salaries 11,00,00C
" To Interest on Investment
@ 7% p.a. for full year 2,80,000 By Sundry Expenses 20,00
To Charity show collections 4,00,000 By Building Purchased 6,00,00C
By Charity Show
Expenses 40,00C
By Balance ¢/d 1,80,00¢
3'5,40,000 35,40,00C
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Additional Information :
On 1-4-2013 On 31-3-2014

Subscription due 20,000 40,000

Subscription in Advance 40,000 20,000

Equipments 4,00,000 16,00,000

Creditors for Equipments 3,20,000 '4,80,000

Buildings 16,00,000 21,00,000

You are required to prep

are Income and Expenditure A/c for the year ended 3

7014 and Balance Sheet as at that date.

31 T, 2014 1 U@ T AW

1st March,
: 10
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sfaftaa gemmd
1-4-2013 Y 31-3-2014 <R
T = | 20,000 40,000
M e 40,000 20,000
YR . 400,000 6.00,000
SR e suEm 320000 | 480,000
CCE] i 16,00,000 21,00,000

T 31 W, 2014 1 WAG T AW A B U o q = o SR T
f % ® geT SR w3

Akshat Enterp'r-ises purchased on 1-4-2007, a machine for Rs. 7.28.000 and spent Rs. 22,000
on its installation. It purchased another machinery for Rs. 2.50,000 on 1st October, 2007.
On 1Ist October, 2009, the ﬁrét machine was sold for Rs. 4,50,000. It purchased another
.machinery on the same date for Rs. 6,00,000. Depreciation was provided -annually on 31st
March at 10% p.‘a. on written down value. On 1-4-2010, the firm decided to change the
method of providing depreciation and adopted the method of prqvidipg depreciation @ 10%

p.a. on the original cost with retrospective effect. It decided to make adjustment entry for

depreciation ol 1-4-2010. Prepare Machinery A/c. from 1-4-2007 to 31-3-2011. | 10
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Or
(3rgam)
(@) Distinguish between Acrual and Cash basis of Accounting.

(b)) What is meant by accounting standards ? State briefly the merits of issuing accounting

standards. What is the legal status of accounting standards in India ?

(¢) Distinguish between Capital expenditures, Revenue expenditures and Deferred Revenue

expenditure with suitable examples. : s &+ 1
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Neha and Co. of Delhi has a Branch at Bhiwani, Goods are invoiced to the branch at cost

plus 25%. The branch does not maintain account books and all collections at branch are remitted

to head office. The expenses of the branch are reimbursed by the head office. From the following

particulars, prepare Branch account in the books of Head office for the year ending 31st March,

23"t 10
Rs. Rs.
Stock (1-4-2012) at cost B/R received from
to H.O. l 7 2,75,000 - | Customers at Branch 75,000
Debtors 1-4-2012 75,000 Cash sent to Brahch
Laptop 1-4-2012 60,000 for expenses 52,500
Petty Cash 2,500 Cash Disc;ounts 4,000
Transaction for the year Balances (on 51-3-2013) : |
Goods sent to -Branch Stock 28,000 |
(at .l.P.) 11,25,000 Debtors £ 1
Cash Sales 9,75,000 Cash 2,500 i
Credit Sales 4,00,000 }
Normal Loss 5,000
Sales Return to Branch 2,500
Cash from Debtors 2,50,000
Bad debts 2,000

Depreciate Laptop @ 20% p.a.
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Mr. Rajesh purchased 5 small trucks costing Rs. 10,00,000 each on hire-purchase on 1st

April, 2008, payable 25% down and balance in three equal annual installment together with

interest @ 10% p.a.

Mr. Rajesh was charging depreciation @ 20% p.a. on diminishing balance methoa. Due to
financial difficulties, Mr. Rajesh could not pay the third installment. After negotiations, it was
agreed that Rajesh would retain 2 trucks, returning 3 trucks to the vendor. The vendor; valued
the returned trucks at 30% d'epreciation P.A. on diminishing balance method. The répossessed

turcks were sold for Rs. 12,00,000 after spending Rs. 50,000 on their repairs. Prepare Truck

~ Alc and Vendor’s Alc in the books of Rajesh and Rajesh A/c and Goods Repossessed
: : l

Il

‘Alc in the books of Vendor. : : . '10;
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(3tean)
Mr. Rajesh purchased 5 small trucks costing Rs. 10,00,000 each on hire-purchase on Ist

April, 2008, payable 25% down and balance in three equal annual installment together with

interest @ 10% p.a.

Mr. Rajesh was charging depreciation @ 20% p.a. on diminishing balance method. Due to
financial difficulties, Mr. Rajesh could not pay the third installment. After negoﬁations, it was
agreed that Rajesh w0u1<;1 retain 2 trucks, returning 3 trucks to the vendor. The vendorsl valued
the returned trucks at 30% depreciation P.A. on diminishing balance method. The repossessed
turcks were sold for Rs. 12,00,000 after spending Rs. 50,000 on their repairs. Prepare Truck
" Alc and Vendor’s A/c in the books of Rajesh and Rajesh A/c and Goods Repossessed

A/c in the books of Vendor. : 10
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i =
Sonal of Delhi sent on consignment to Monica of Bikaner 500 boxes costing Rs. 500 each,
invoiced at cost plus 20%. The cartage on consignment amounted to Rs. 15.000. Sonal drew
upon Moniéa a bill for Rs. 2,00.000. Sonal got the bill discounted for Rs. 1,90,000. Monica ‘
reported that 200 boxes were sold at Rs. 600 each, 30 boxes at Rs. 700 each. The expenses
at Bikaner amounted to Rs. 15,000. Monica is entitled to a commission of 5% on invoice
price, 20% of any price realized in excess of invoice price and 1% del credere commission.
Monica also informed that 20 boxes were dramaged at her godown due to moisture and they

are expected to be sold @ Rs. 200 per box.

Prepare Consignment A/c, Monica’s A/c in the books of Sonal and Sonal’s A/c in the books

of Monica. ; : - 10
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Or
(37eram)

Yogesh and Devender are doing business separately as builders. They undertook jointly to
construct a new building for a company for a contract price of Rs. 5 crore, Rs. 4 crore to
be paid in cash and balance in fully paid shares of the Company. A joint bank account was
opened towards which Yogesh contributed Rs. i,S0.00,000 and Devender Rs. 1,00,00.000.

The profits are to be shared in 3 : 2.
The Transactions are :

Rs.

Materials purchased , 1,25,00,000
Wages paid : 1,00,00,000
Materials supplied by Devendell ‘ 5,00,000
Architect Fee paid ‘ . 5,00,000
Fittings purchased . 50,00,000
Value of Stock lost by ﬁfe, not covered by Insurance Co. 5,00,000

The contract was completed and contract price was duly received. The shares were sold in

the market for Rs. 60,00,000. Devender took the remaining materials for Rs. 3,00,000.

Prepare necessary Ledger accounts. 10
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A, B and C are three partners sharing profit in the ratio of 3 : 1 : 1. On 31st March, 2013

they decided to dissolve the firm. On that date their balance sheet was :

Liabilities Rs. Assets Rs.
Creditors 6,000 Cash 3,200
Loan 1,500 Debtors : 24,200

Less : Provision 1,200 23,000

Capital A 27,500 Stock 7,800
Capital B 10,000 Furniture 1,000
Capital C 7,000 | Sundry Assets 17,000
52,000 52,000

It is agreed that :

(1)  Aisto takeover Furniture at Rs. 800 and debtors amounting to Rs. 20,000 at Rs. 17.200.

Creditors of Rs. 6,000 are to be paid by him at this figure.

(i) B is to takeover all stock at Rs. 7,000 and some of the Sundry assets at Rs. 7,200

(being 10% less than book value).

(ifi)  C to takeover the remaining sundry assets at 80% and assume the liability of Loan together

with unrecorded interest of Rs. 30.

(iv) The dissolution expenses were Rs. 270.

(v)  The remaining debtors were sold to a debt collecting agency for 50% of the book value.

Prepare Realisation Ale, Capital A/c and Cash Alc.

10



Write short notes on any two of the following :
(/) Realisation concept

(if) Treatment of Normal Loss in consignment with suitable example.

(i1i7) - Distinction between Hire-Purchase and Instalment Payment Systems.

et # ¥ frdl & W dfea fewfri fafea .
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(@)

(b)

(@)

o220 : 1452
SECTION A
(@ug ‘w)

Define offer. Discuss the rules regarding a valid

offer. 10

maﬁvﬁwﬁﬁqﬁam@éﬁfaﬁﬁuﬁ
w1 e ifam

Differentiate between Fraud and Misrepresentation ? 5
FT2 AR RifESA # s waE
Or
(37eram)
What are the legal remedies available to an aggrieved party

in case of Breach of Contract ? 10

qfe1 s & 9 A safer safa @ sqere fafus

AR F O§ ?

(b)

(a)

(6

R e 1452

How are Illegal Agreements different from Void

Agreements ? : 5

quamﬁﬁaqéam%qmﬁm@ﬂ
€ ?

SECTIONB
(mvg ‘w))

Who is an Unpaid Seller ? Discuss the rights of an Unpaid

Seller against the buyer. 10

mﬁmﬁam%?mamm
ﬁ%m%aﬁﬂaﬂﬁaﬁf‘aaﬁm#ﬁm

What do you understand by the term ‘Agency by
Ratification’ ? What are the requisites of a valid
ratification ? 5

P.T.O.
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(3rera)

What are the implied conditions applicable on the seller

10
in a contract of sale ?

e d e w ) fife @ @

g2

Explain the rigﬁts of Surety againsti the debtor under the
Contfact of Guarantee.
ﬁ dfag & aﬁlﬂ‘d &'-m'{ % foeg ma &

maﬂmﬂﬁﬁql

3 (a)

(b)

(@)

B SRS 1452

“The Indian Partnership Act has effectively ensured the

registration of partnership firms without making it

compulsory,”. Comment. 10

"t EEe sifufan 3 vie B s
T oIk e v @ gofiewm ) gaEt w9
# giifeam = fom %1 foomdt s

Differentiate between Promissory Note and Bills of

Exchange. _ 5
AR iR fafrmg o § siw AT |
Or

(3reram)

What are the various rights and duties of a partner under

The Partnership Act ? <10
ISR sifafrm % siwta wrERR @ fafir sfumr
IR zgfeal w7 & 2
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privileges_available to the ‘Holder in Due

(b) Mention any five
course’.
e & o 1 ST e w i

&1 Soeor@ Hiog |
SECTION C

(@us ‘M)

Explainlthe «deductions for fine’ and ‘deductions

(@

for absence from duty’ under the payment of Wages

Act, 1936.
W@Wﬁaﬁxﬁmwwﬁaﬁﬁﬂ‘ﬁ% !
o w2 o gl L s W % TR

o H e Hi

()

(c)

(@)

Ry gttt | 1452

State the classes of employees to whom ‘The Payment
of Bonus Act, 1965 does not apply. 6 :
i & w9 i o S i o W A
st sifaf=m 1965 FIT‘L & Bl |

Discuss the provisions of forefeiture of gratuity under

‘Payment of Gratuity Act, 1972’. 3

¥Rt srerrit sfufrm, 1972 & sFwia et
S W % gEyE & fEEE s

Or
(3teram)
Explain the term ‘Industrial and Other Establishments’ under
“The Payment of Wages Act, 1936, 6

‘Sieifie qan e wfased’ U @t AR SR
sifafm 1936 @ sfata =re ifeu |

P.T.O.



(b)

(&)

Differentiate betwee

1452

n Allocable Surplus and Available

Surplus as per the ‘The Payment of Bonus

Act, 1965’.

S srerr sfufEE, 1965 & TER fafarard
PN

What is the rate of gratuity payable and state the maximum

amount of gratuity payable- under “The Payment of

Gratuity Act, 1972° ?

9 :
) 1452

(ﬂ) D81"Ie Ile [e”“ wa S u"dEl ihe Ia ment 01 wages

©)

Act, | ! is i ;
936°. What is included and what is not included in

this term ?
6

Al st sfufrm, 1936 @ s oo’
o< Hi R dfsw) 3w e F Fn wfne ® aik
¥ TE e ?

What is Bonus ? Discués the rules regarding ‘Minimum

Bonus’ ; i
us’ and ‘Maximum Bonus’ under ‘The Payment of

Bonus Act, 1965’ _
6

mwﬂm% ?mmﬁmﬁm‘}gés
7 Sf =T S it s s

frdt #t frde =ifm)
PT.O,



1452

become payable under ‘The

(¢) When does the gratuity

payment of Gratuity Act, 1972° ?

ﬂgsé’fmﬁaxfuﬁﬂﬂ 1972%'31'@?11‘31@52"(&3

A ST ?

(g

. i eriod
Discuss the rules regarding the fixation of wage p

(a)

under ‘The Payment of Wages Act, 1936".
ol s sfufrm, 1936 @ s weGd

aafu@ﬁﬂaﬂ@a‘eﬂﬁﬂﬁfaﬁw

T |

1452

(b)

(¢)

(1 ) 1452
Explain the eligibility and disqualification for.receiving
bonus under ‘The Payment of Bonus Act, 1965°, 6.
19 - ST sfufrEm 1965 ® s
T T % o A s swm 5 e
ity |

Define the term ‘Employee’ under ‘The Payment of

Gratuity Act, 1972, e

Tt srertt sifufem, 1972 @ siwia ‘wdua
= H gRurn i

11 proe
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(2) : 1453

What are the root causes of the central problems of an
economy ? How production possibility curve is used to solve

these problems in a capitalist economy ? ; 15

wadwawaﬁmmaﬁ%qﬁww
? ? w {Siad sidfeyawen § w1 wmensi @
gYE & fau @A e 9% fRY e gEm

fran s & 2

(@)  Distinguish between price elasticity of demand and

income elasticity of demand. ek

(b)) Why is the sign of price elasticity of demand

negative ?

(¢) -~ Why is elasticity different at different points on a

negatively sloped straight line demand curves ? 5

(.35 1453
(a)ﬁwﬁﬁuﬁmq—q‘mﬁaﬁaﬁmw
Hifqw
(@) 1 & Fow A W w6 e
g ?
(H)wmma@%@aw‘hwﬁﬁfw
ﬁgﬁwﬁhaﬁ?ﬁaﬁmaﬁaﬁ%?
(@)  Show the derivation of demana curve for a normal good

from price consumption curve, 10

() Exp!ain and show the slope of indifference curve in case

of perfect substitutes and perfect complements. ]

(m)@wwémmmmwﬁm
§ Hww w gty A i

(7) Wﬂzmqﬁ?ﬁ:wa@aﬁ$m
.ﬁmﬁﬂmw%maﬁw@rﬁm@
qeIET |

PTO.



(a)

(b)

(4) 1453
With suitable diagrams explain the law of diminishing

returns. 5

Calculate total variable cost, average fixed cost, average
variable cost, average cost and marginal cost from the

table given below : 10

Oqtplil % Total Cost
(units) (Rs.)

0 200

1 20

2 236

3 246

4 264

5 295

6 356

(5)

1453

(31) 3fm Yafas & 3R w9E A yhawd & Fem #)

o &I |

(@) fretfafen afas ® gema @ ge giedeie

‘@wmqa'@#ra-wmaﬁmm‘:

I - H/A HAd

(gT3a)

0

(%)

20

236

246

356
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(6) 1453
Give the features of a perfectly competitive market. Why are
the profits in such a market eliminated in the long-run ? Explain

using diagrams. 15

T T wfErtt aem ) fatvand dfm | 3f T
%mwﬁﬁq%ﬁdﬁmﬁ'wmﬁwﬁ
# o = & s 2

Distinguish between monopoly and discriminafing
monopoly. How are prices and output determined under simple

monopoly ? : 15

qa?rrwqa‘ﬁam@mnﬁwwaﬁmn

A THIFR F ST<fa F90 To SemeT a1 Frsiieon

H wQ E 2

(@)- “The gains from international trade arise from
different opportunity costs in the two countries.” Discuss

in detail. . 7a

(b)  Give arguments in favor and against protection. 7%

1453

(7 1453
(a)aémﬁmawwﬁ%mamﬁg’mm
ﬁwumﬁiﬁw@aﬁaﬁﬁq n

(F) W F vy w6 fuw § o A |

Write short notes on any rwo ; Tat7
(@)  Backward bending supply curve of labor

(b)  Prisoners dilemma

(¢)  Total expenditure method to calculate price elasticity of

demand.
ol & = dfera feaoh g
(1) 79 =1 98 1 R gg1 onqRl aw
() e #t g

(7) w1 i Foa @ Feen = o o fafy |
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2 ) 7692

‘Politics- is essentially the struggle for power.” Discuss. .
‘gﬁwﬁmﬁwﬁﬁrmaﬂm% I fererem
St |

Discuss the nature and the scope of political theory.
TR i # TR o R e
Explain different dimensions of liberty. Is it compatible with
equality ?

T # e st = e W |
AT ¥ gET & 2

Examine different theories of rights.

FFrR # fafys ﬁmﬁr F T HifTg |
Analyze the liberal theory on the functions of the state.
T % % 3 aR ¥ rard fagig = fereerem
i | |

(3) 7692

Explain Rousseau’s views on natural and social inequality.

TETE SR I s # 9§ wG B fomm
T Fifsm | =

‘Mill |s the prophet of empty liberty.”- Comment.

P S o @ wE § 1 feh wifm
Do you agree that Swaraj is multi-dimensional emancipation of

individual in society ? Discuss.

F A T A\ Y e ¥ 5w wne s
F TG-AAHT qRE § 2 frde Fifew |

Analyze Loﬁia's view on four-pillared state and democracy.
G T R Awa F AR w3 g
favermm ifsn |

Write short notes on any two of the following :

(@)  Locke on property

(b)  Relevance of political thgory

(¢)  Marshal's views on citizenship

(d) - Ambedkar on dignity and social Jjustice.
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